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difley - o
SECTION - A
&My ;i) eanans demeben 150 Cemhaepsi@ WsMoe e wefssaLb.
Note : Answer not exceeding 150 words each.

i) eaeanm deamdheb U wHICLemTSsT.
Each question carries ten marks.
iii) een@EssILLGeTer LSleTeaTm cemasefies amaGLEID LSSl  Nomssensd
LB eflemLwieflssaLD.
Answer any ten questions out of thirteen questions.
(10 x 10 = 100)

1. (A) @em ea@uieyster wrewraFseT wHMD wreselsefldr allflgn S:3 SYGWL. @
Caziefled 16% wrewTaufsEnd 8% wLrewTalsEpd Czisdl Cupealdemer erafled, Gz
Qupp wrewreu wrewrallsafler sFeisHmss Hrevrs.

The ratio of boys and girls in a class is 5:3. If 16% of boys and 8% of girls failed in an
examination, then find the percentage of passed students. (5 Marks)
(B) Nfleuctry. eremm @@ soL&sTrr 4275 Q& husred aumEE S% BLLID
apuBns. S% eorud Qup CeuswrHCwefled, Seur WSeariqen ererer aflenevs S
allhs Ceussor(Hib?
By selling a bicycle for ¥4275, a shopkeeper loses 5%. For how much should he sell it to
have a profit of 5%? (5 Marks)
2. (A) @m Qurmenst 810 Réw© ppzred Horss Peruwd HCs Qurmenst IS30
B33 obpared gOULL BLL b &wb aeafled, sl Curmeflar &8 ealemerenws
STETTS.
If the profit earned on selling an article for ¥810 is the same as loss on selling it for
X530, then find the cost price of the article. (5 Marks)
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(B) em Qurmeflsr 155 eprisiu@b m QsTLi gerepugset wempGu 25% wHmD
20% earafled,Dan@ Harrer oGy swrars FerEpUs sFeigsdmens Smes.

Find the single discount in percentage which is equivalent to two successive discounts
of 25% and 20% given on an article. (5 Marks)

(A) em GenrensHler CQsr@Heow 5S0% HHsfsgd uGgHeow 20% GODSSTO, SiHS
Hererorers s % wrmdng aefled, g Nararsmas srems.

If the numerator of a fraction is increased by 50% and the denominator is decreased by
20%, then it becomes 3/s Find the original fraction. (5 Marks)
(B) Gam9, em wysseflafllow 12% Qeorusdie elpory. Cuoeubd, Sewg 1200 Dés
sga(Opeoons alDHmHSTE, Peomud 20% 5 PHBIHBGHGWL. wussaflaflliar oL&s
allemedenws SreTs.

Gopi sold a laptop at 12% gain. If it had been sold for Y1200 more, the gain would have
been 20% . Find the cost price of the laptop. (5 Marks)

. @Hu gremEssHHEL LGaun aflumani aflseflds QBB @ eHUTUHETET

a@poreTd CarTHSsILL(NeTerTgl. SDES QL alarssSUULLD euamrs.

aufl aumeumi Y QUI@HLOTENT | &HEIS | HeOomed Caemeu oD enel
anfl o culfl afl | el curfl oo
QU(HLOTEUTLD
(@oLETeile) 19 16 9 14 10 32

Income from various sources for the Government of India from a rupee is given below.
Draw a pie chart.

Corporation | Income Excise | Service
Source Customs . Others
tax tax duties Tax
Income (in
. 19 16 9 14 10 32
paise)

(A) emar gerg eamorasde 75%gm Osewe Qeuflpry. eufler sbuemd 20%
e wmADG, SeumD Semew GFoemear 10% sfladlpry. aefled euflar Cabliiy
cTeualere #z6aigd ySHsfaE0?

A man spends 75% of his income. His income is increased by 20% and he increased his
expenditure by 10%. His savings are increased by (5 Marks)
(B) pzeomd syetor® el m marSder wEseT Qgrens S% fsfsdns, AOSS
B 5% Gondng aafld CsT_sssHe waser Cgrens ererer?

During one year, the population of a town increased by 5% during the next year, the
population decreased by 5%. If the total population is 9975 at the end of the second
year, then what was the population size in the beginning of the first year? (5 Marks)

(A) @m erevrsefleir 15.8.10 syerg 15.0u.eu-afleir 6 WLRASTGWL. 15.60u.01 12 wHMID 6F
eteior 36 ererfled, WHBONTT eTeRTENENTE SHTETITS.
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The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one of the
numbers is 36, then find the other number. (5 Marks)
(B) epermi Curi@arss spduyseflles 2erer Qpflasr aflers@Gaer  aiCeursTMID
weonGu 40 ealipmgsefl, 60 apmgsefld womb 72 eOBrgsefled eefljsarmer.
Sjeusllers@Gaear merggid Hreme 8 wenllaGs spSluysafled garmrs eeflihger aefle,
Beir(Hd jeweu 6TLIGLITG erprs eeflHid? (5 Marks)
The traffic lights at three different road junctions change after every 40 seconds, 60
seconds and 72 seconds respectively. If they changed simultaneously together at 8 a.m
at the junctions, at what time will they simultaneously change together again?

(A) weojelllfl, srisHar wHmd scwewd A epaumbd Cr HArmwsmss CHikS
GamPlaer. Qeujser OQeuuGaim @Lrisefldd GCeaumer Geliflerpery. weoFalfl S
BILSEBSH@ @@ Weopwb, srisSesr wbomb sawewdl wepGu 6 wHmw 10
BILSEBSH@ @O Ponwb, Seuigbn oHOseps® abg Osdeal. Seujser epaib,
SIHCLITUT IgD WSO BreT QaTDIss FHIHSFTiHeT 6rafle, WeT(HD Ijeujser erIGLTS)
QRETONSE FhSLILITTS6T?

Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work
at different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga
and Anjali come to their homes once in 6 days and 10 days respectively. Assuming that
they met each other on the 1st of October, when will all the three meet again? (5 Marks)
(B) eflevaeir, wger wHmd GewrCesrer HACUTT @M el L ageleorer ehOuTamguilsr
om &Heon wenGu 10, 15 womp 20 Bl _Rsefled &Of wgsfarmery. Sjeuiser
Qgrssn yetafluler amemed 7 wenllaE® patmreE sHDS OCFTLRSleTTed, IjeuiseT
Bewr(Hd erICUNg QgTsa yeraflulled gerpras shSuuriser?

Wilson, Mathan and Guna can complete one round of a circular track in 10, 15 and 20
minutes respectively. If they start together at 7 a.m from the starting point, at what
time will they meet together again at the starting point? (5 Marks)

A)emw aGudleo ooy SO0 wreweajsefly, 10 wrewraujssr Cgrealwbmerry
Seursefler srrefl wHICQUer 2.5. Cwrss wrewraufseflar wLHICLTTSfler  Fo(HIFHEO
281 erafled Qeupn)) QuHM wrewraufsefler srmefl wWHICLIET sTevrs. (5 Marks)
In a class of 50 students, 10 have failed and their average of marks is 2.5. The total
marks secured by the entire class were 281. Find the average marks of those who have
passed.

(B) 122 ,2A2,3A2,4A2 ,5A2 ,672 ,772 sy flwepdler srreflenw srevrs

The mean of 112 ,2A2,3/A2,472 572 672 ,7/2 is (5 Marks)

a0 n Quevstarrsefleir S Lalevssd Srevrs.

Find the standard deviation of the first ‘n’ natural numbers.

396, 504, 636 yFweupmer 15.Cur.eu SHrewTS.
Find the HCF of 396, 504, 636.
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11. (A)2A = 3B = 4C etafled A : B : C et wéiewus snewrs
If2A =3B =4C,then A:B:Cis (5 Marks)
(B) @ p&Caremsden usstsafler ellflgn 2:73:7 wHmb Hser sHmere; 104 QF.5
aefled giFeir Quflu L&sSSler jeTema STETITs:
The sides of a triangle are in the ratio Y2:%:% and its perimeter is 104 cm. The length of
the longest side is (5 Marks)

12. o emSlrsHler sHGurengw wHOY 1,62,000. ger Cguuorerd yewrngnE 10%
steuflev,
D Qrew® SyereHE DG dFer wHL erees?
i) @raw® oETeHE Wy Siger wHiy eerer?
The value of a machine depreciates at the rate of 10% per annum. If its present value is
Rs. 1,62,000.
i) What will be its worth after 2 years?
ii) What was the value of the machine 2 years ago?

13. 25 wAlyseflér srrefl 120 oar sewrsSl LU (herergl. ey sflurfé@n Curg wSHiy
144 @53 ufleors 169 eer CojssiulL g ety saw® Wigss ulLg erefled
sflurer spreflenw srevrs
The average of 25 observations is 120. By mistake one of the observations 144 is taken
as 169. Find the correct average.

Sifley - =3
SECTION - B
&My ;i) eanans demeben 250 ClEThaEhsiE ST e wefssaLb.
Note : Answer not exceeding 250 words each.

ii) @acanm deamsihen Ulmearbg wHOClLewTseT.
Each question carries fifteen marks.
iii) esnGasLILLEsTer LSleTeeTm  efiessefies eraGLEID LSS 66 HEHEE
LB eflemLwerfl&&eLb.
Answer any ten questions out of thirteen questions.
(10 x 15 = 150)

14. gwreafler 1vrg GOWLUE Qe £Os Cer@ssUILL(DeTarg. SHESL CLUTBSSWwTeT
alLl L elleT&slULLd euemrs.

elleurrriseir 2 ewrey | sevell | eur_ews Curs@arss D57 CFeveys6r

Qzeveyser (%) 50% 20% 15% 5% 10%

Gueid,

1. @wrear anm_esssts ‘6000 g Oswas CFUFT® I SHoals@s OCFlwb
Qsevenaus STeuTs.

2. @wreflér Cr$s WIS QIIHLIETD TaalaTe)?

3. seallenw el 2 ewreysE cTeuauere Fswrss CFoad Gewflpmy?
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Monthly expenditure of Kumaran’s family is given below. Draw a suitable Pie chart.

Particulars Food | Education | Rent | Transport | Miscellaneous

Expenses (in %) | 50% 20% 15% 5% 10%

Also,

1. Find the amount spent for education if Kumaran spends "6000 for Rent.
2. What is the total salary of Kumaran?

3. How much did he spend more for food than education?

(A)X3500 syersr AB wpmb C 6@ A : B = S : 4 wpmd B: C=3:2 ereirmeummy
uflingeflass LQEDg aaflld B R&@ Cor Ceaemqw ukifleners srewrs

Rs. 3500 is distributed in A, B and Csuchthat A: B=5:4and B: C =3 : 2, then
calculate part given to B (5 Marks)
(B) 3510 syeorz A, B wpmd C Ré udlibzeflss u@HAng. A eeruay B Qubd
Qzrensuiieds 7 ukiens CQumlpry wHmid B eeruar C Qum@mb Qgremsuiler ¥ ukiens
Qumflpry,aeflled SeuisEnsE Cor Cauammqu Gsrensssr (perpGu

If Rs. 510 be divided among A, B, C in such a way that A gets % of whatB gets and B
gets % of what C gets, then their shares are respectively. (10 Marks)

(A)@m erevraer  3:5 ey eflflgsHled 2 ererewr. @aiGanm ererafllemBHD 9
sflaaiulLred Sl emisefldr elflgn srewrs

Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are
in the ratio 12 :23. The smaller number is (5 Marks)
(B)em ewuufleo 25 ewusr ,10 emusr wHmd 10 evusr yHwenes 1:2:3  ereirp
aflgsdled 2 ererer. Cueyd Sbg eouuller I30 2 ererer erefld S musssafler
sTewTewilGensenil  STevuTs

In a bag, there are coins of 25p, 10 p and 5p in the ratio of 1: 2 : 3. If there are Rs. 30 in
all, how many 5 p coins are there? (10 Marks)

(A)30 wvemreufser m a@lllar eawgsefldr syrefl 30 oyeTHssT  Cebd
aguurdlfluflar awdomeruynd GCsissmed 1 yamBast saOFng erafled o Aflufler
QULMSS SHTETTS

The average age of 30 students of a class is 30 years when the age of class teacher is also
included, the average age of the whole class increases by 1 year. Find the age of class
teacher? (7 Marks)
B)em HflsCs ofrfldr 10 g1 risefldr syrefl 38.9 oL kiser. seufldar pseo 6
Gum_yseflir syrefl 42 UL Riser cefld sl prarg L Risefldr syreflenw
STV &

The average score of a cricketer for ten matches is 38.9 runs. If the average for the first
six matches is 42, then find the average for the last four matches (8 Marks)

(A) rell eretrueu; senflssdled 75 @&E 66 wHUCUETSEHL IyHelwelcd 80 D&E 72
wlucluersepn umdlarpry aafled , abg UTLSHe s wHuClueer CUDHmIeTETTT?
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Ravi got 66 marks out of 75 in Mathematics and 72 out of 80 in science.In which
subject did he score more? (5 Marks)
(B) em ser Qecicussher Beo, sise0 wHHID 2 wrd wWepGu 10%, 20%, wHmID 20%
sfsflasn LG efled, SiFer sar jerey eeuaiera FHaisn FaflEEGn?

If length, breadth and height of a cuboid increased by 10%, 20% and 20% respectively.
Find the percentage change in volume. (10 Marks)

(A)A eretrueur B gt ol 10% s eraflled B ereirueu; A eweu el eTSZemer
#geisd Gommey?

If A is 10% more than B, then B is what percentage less than A? (5 Marks)
(B)@m Geauuneriseflen_Cu mew Quppm Csizseller Qurss arsgGsefisr cewrenisms
8400 gifled 75%arsGseT OFeTIMmal. CFNNSHHS ars@sefled Geaupd GCuHD
Gaulurery 52% eurs@sener Glupmemenmy. erefled wHMH Ceuumery CUHD GlE0S5555
auns@aefler erevrenilsens

In an election between two candidates 75% votes were valid. The winning candidate
got 52% of the valid votes. The total number of votes were 8400. How many valid votes
did the other person get? (10 Marks)

Bm erawrsafler sz 216 eupdler 15. Qur. 1 27 eTaflled bGP eTERTHEMETS HTeTOrs

The sum of two numbers is 216 and their H.C.F. is 27. The numbers are

718, 318 85 Q. 15, 12 5 95 Q&. 5 yflu Berhisener IeTHES Fagw WlsLGUFW
swifulleir Berid erebrewr?

The greatest possible length which can be used to measure exactly the lengths 7m, 3 m
85cm, 12 m 95 cm is.

50,47,53,48,51,52,49 g flu wiuyss@ S alewssn smeus
The standard deviation of 50, 47, 53, 48, 51, 52, 49 is

(A)120 QurmLsemer allp@n Curg 30 Qurmlseflar ellhuemer elleneodE sowrer
oorub HesHng eresfled eoru sFeisd Hrevwrs

On selling 120 things, it results a profit equal to the selling price of 30 things what in
the percent profit? (7 Marks)
(B)15 QummLsst I12 Q& ammst uGdps wppw 20 Qurmlser I14 Q&s
allpaiuBRFlng erefled oL SiVevF BLL FFHeigd Hrewrs

If 15 articles are purchased for Rs. 12 and 20 articles are sold for 14 then find the
percent profit / loss? (8 Marks)

(A) gm aflmsuiler gemwssiu L 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 eerp
sraseflar Qenflemeo ety 24 erafled x Qeir wHlOLSE STevers.
The median of observation 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 arranged in

ascending order is 24. Find the values of x. (5 Marks)
(B) e upeueSeor srmrefl wHmIb Ws®H wWeonGu 66 wHMID 60 IyEb. PerLHlened
|6TQ SHTCTTS (5 Marks)
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In a distribution, the mean and mode are 66 and 60 respectively. Calculate the median.
(C)10 Gsmpleoreryasaficr rs eumwreTRSsT (PeHGuW:

sooo, 7000, 5000, 7000, 8000, 7000, 7000, 8000, 7000, S000

aafled errefl, QenLflener jeray,wad Srers.

The monthly salary of 10 employees in a factory are given below :

35000, 7000, 35000, XT7000, X8000, 37000, 7000, X8000, T7000, 5000

Find the mean, median and mode. (5 Marks)

(A)X180 ms GMss elmewrsamn, I108 @ elpumer ellmewrsan OCSTeRTL Wb
QurmEnsHE sSmLsaTrr QPraHs OCsTLT IFemepugsmer eflsSHpry. Brewr_reus)
gemenLly 8% erafler, v FerEpLgWler FFiTSMmss STETTS. (7 Marks)
A shopkeeper gives two successive discounts on an article whose marked price is Y180
and selling price is ¥108. Find the first discount percentage if the second discount is
25%

(B)maGzsfl Qm Cemevaenst geor 32200 QP&E epprer. oerder Bz  10%
Beorugemswd wHpreTdler 155 12% BLLSmSWD wLbErer eefled, Csenevsener
alppHled sjeuefler Corss Peorud VNG BLLID &Fai55m585 STevTs.

Vaidegi sold two sarees for Y2200 each. On one she gains 10% and on the other she
loses 12% . Find her total gain or loss percentage in the sale of the sarees. (8 Marks)

seogrem, 6@ Ourg Srsmquile Heteum CUNmeTHMmer  eumEISlTTT. el
Qe)sHu Corss Preess Czrensmus sersdlDHs.

@ 5% &réE womb Crmer aflysr I800 wHindleorar WwHBSIST

i) 12% spé@ wpmb Csemer aflyLecr I650 wHleorer G sTSTLCLITHSTS6T
di) 0% &réE wHomb Crmer afly_sr I900 wHileorer Freflwkiser

Gv) 18% ené@ wHnb Ceemen auflyLer I1750 wHllleorar SHBLULS &ewTeRTTY.

W) 28% &néE wHnb Csemer auflyLer I28500 winfeoresr arpmii ugefl (AC)
Sultana bought the following things from a general store. Calculate the total bill
amount paid by her.

(i) Medicines costing 800 with GST at 5%

(ii) Cosmetics costing T650 with GST at 12%

(iii) Cereals costing ¥900 with GST at 0%

(iv) Sunglass costing ¥1750 with GST at18%

(v) Air Conditioner costing 328500 with GST at 28%
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